16 v ARC LEEREROERKES (HETHED

EASEE [HERE - RRIEESEES] LY
B3 BT | A2 25| FH2 86| FR2 4G FR25EE| TR264E| T2 (FE| T2 8EE| FH2 95| PRI 05| SR | SH25E | SHSEE | SH45E | b ER
=E2N 2.7 39 17 5.1 5.6 05 2.0 0.5 17 1.0 2.4 0.0 0.0 07
BEET 0.0 111 34 2.9 4.1 0.0 5.6 6.4 17 75 0.0 0.0 1.8 27
£ 4 fERY 37 16.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 14.3 0.0
fES 1.4 1.8 5.6 16 11 05 1.4 1.9 0.6 1.6 0.0 0.9 0.0 0.9
flF | AT 9.8 9.5 1.9 13 1.6 39 0.0 0.0 0.0 6.4 5.8 2.2 25 0.0
KIIRAT 15 2.2 43 2.2 1.9 1.0 15 0.5 1.6 1.2 05 3.2 0.7 1.4
AT 46 7.2 1.2 6.3 6.3 46 2.6 2.9 1.8 0.0 0.0 0.0 0.0 0.0
SEFRET 6.2 1.6 3.1 17 23 3.2 2.1 2.2 0.7 1.8 0.4 0.0 0.0 2.1
JIliEs BT 2.4 6.3 3.4 38 73 4.2 55 0.0 2.7 0.0 0.0 0.0 0.0 0.0
BB 2.9 10.6 4.4 31 1.4 3.0 1.2 1.0 0.9 0.6 1.0 15 15 04
SEHH 2.4 13 1.6 2.0 1.2 1.8 0.7 1.6 2.0 0.8 1.6 0.4 13 3.0
HAES BT 5.2 5.9 13 5.7 8.5 5.1 2.7 8.9 6.1 38 3.0 3.4 43 6.1
£ 4 3Ry 2.0 1.4 0.9 3.4 4.1 1.9 43 2.2 3.4 11 1.0 0.0 0.0 0.0
FIAFET 4.4 3.4 2.0 4.4 3.1 4.1 0.4 13 0.4 0.8 2.0 0.0 0.0 0.0
£ 2.0 1.9 1.9 11 26 15 1.9 1.2 1.1 0.9 1.8 1.4 15 0.5
L 2.2 2.6 15 25 2.0 2.6 1.7 0.3 43 3.0 03 0.9 14 03
SR 4.6 45 13 3.0 2.2 1.8 2.1 0.9 1.4 0.5 1.0 1.0 25 0.5
thFTEY 0.8 2.3 53 3.7 1.4 2.1 8.6 3.1 0.0 5.1 2.8 2.0 0.0 0.0
PNl 23 2.1 35 3.1 2.0 13 0.6 13 1.1 0.8 2.1 0.4 0.0 0.0
I 2.9 3.9 9.1 5.8 0.0 5.3 3.2 5.4 2.9 0.0 4.9 4.7 0.0 0.0
BEab 4.0 2.2 1.6 1.2 1.8 2.2 1.4 1.1 0.5 1.4 0.5 0.6 0.3 0.0
KA 3.9 1.9 4.2 3.6 2.0 0.0 3.8 0.0 4.2 2.0 0.0 0.0 0.0 0.0
K 44 4.1 35 3.1 4.4 2.6 2.4 3.0 17 13 13 0.9 11 06
ERRET 73 8.9 6.7 85 225 2.3 4.0 4.1 0.0 5.9 2.9 23 0.0 29
K5 | hnsehy 4.6 1.8 4.2 0.6 2.4 2.3 0.0 15 0.0 0.0 0.0 1.1 0.0 11
BT 5.8 3.9 2.7 5.2 0.9 3.0 2.8 43 0.0 2.7 1.1 1.8 4.9 1.9
ey 13 1.2 3.2 0.7 1.2 2.1 0.6 2.1 0.0 0.7 0.0 0.9 0.0 0.0
ER |RR® 2.9 1.0 0.9 1.8 2.6 0.8 1.2 0.3 0.6 0.3 0.9 2.0 0.8 13
B | BXKT 35 1.9 2.5 1.7 0.9 15 0.5 0.8 0.6 0.2 15 0.0 0.5 0.0
kil 42 5.2 45 3.6 25 2.1 35 15 2.0 1.6 1.6 2.0 13 0.6
E N 11 13 1.6 3.8 25 1 0.6 1.6 2.1 0.4 1.4 0.0 13 04
Eeollliay X 0.0 0.0 3.7 25 0.0 0.0 5.1 0.0 0.0 0.0 0.0 0.0 0.0
KA
2.2 35 2.6 3.1 23 2.0 1.1 3.2 2.4 0.4 2.1 0.8 0.5 0.9
SUWA | (D)
B = fRET X 1.2 2.7 3.0 2.9 5.6 49 0.0 3.0 0.0 1.6 0.0 0.0 0.0
& 2.6 2.9 2.7 2.6 2.4 2.7 25 2.2 17 1.7 1.8 0.8 0.7 05
X T - SREICE YT
a2 24 | ok 2 3 4 | Fen2 4 | Pev2 54| Ai2 64| A2 74| a2 s | a2 o | wm3 o | dhinem | h2cm | om3EE | sR4EE | SM5EE
AT %R R 3.2* 33 2.8 2.1 2.6 2.1 1.8 1.7 15 1.2 13 1 1.0 08
i&H% 2L Rat 2.9% 3.0 2.7 2.7 2.5 2.4 2.1 2.0 1.6 1.4 1.6 0.9 0.8 0.7
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